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Basic scheme: Must refer to some aspect of the model that
makes =3 goals per match unlikely

Must mention or imply =3 goals per match

EG:

Current model seems to underestimate probabilities of
higher numbers of goals

Or about 3 goals per match, but mean in the model is < 3
Or about 3 goals per match, but mean = 2 or median = 2

Or model suggests more matches < than 3 than > 3

Or model suggests < 3 goals per match

Bl
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oe. Or eg P(X > 4) should be more than 0
or model suggests impossible to score more than 4 goals
or model says P(3 or more) = 0.36 which is small

NOT =3 goals per match, but P(X = 3) = ==, too small.

NOT =3 goals per match, but ( )10 is tiny

NOT =3 goals per match unhkely given this model
NOT 3 is not the most likely number of goals
NOT Highest probability is 2

Ignore all else






